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1) ROFHEZELESL, (2R X10%)

1) 4a+b+3a—2b 2) 8x°+7x—3x"—9x

3) (10x+5y)+(—5) 4) (a’+3a)—(2a +4a)

5) (7x+3y)+(4x—5y) 6) 0.9a—0. 8b—1. 3a+0. 5b
7) 6ax(—5b) 8) 5ab-+(—5b)

9) %X+%y—%x—§y 10) %2" %
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2) ROFEZELGED, (2R X108

1) 2x+3y—4x—5y 2) 3a2—a+a2—2a
3) 1.6x —0. 3x—0. 9x"+0. 5x 4) (27x—18y+9)+(—3)
5) (4a—3b)—(a—2b) 6) (3a—b)x(—4)
7) —18ab-+(—6a) 8) (—>a)x11b

1 1 1 1 a+b
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3) ROEHEZELGED, (2R X108

1) 1. 7a+2b+3. 4a+5. 2b 2) 2x—6y—4x—8y

3) (x—y)+(3x+4y) 4) —4x2+8x+x2—5x
5) 5a+2b—1—3a—6b—6 6) 2(3a+b)+2a+4b
7) 9ab’+(—3ab) 8) (—x’y)’

a+3b

9) %(2a+4b) + %(6a+9b) 10) 4x
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4) ROFEZELGED, (2R X108

1) —(4x+5y)—(3x+8y) 2) 11x+5y—16x+y

3) 0.7a+0.8b—1. 3a—1. 4b 4) (3x°+2x)—(x"—4x)

5) 2a—b—4(a+5b) 6) 2(a+3b)+4(3a+b)

7) 4a’bx3ab’ 8) (6x°+3x)+3x

g) XDMEZ 4 xiydd 10) 4(Ja + 3b) + 6(za + 2b)
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5) ROFEZELLGEL, (2R X108

1) 4(a+2b)—(a+3b) 2) —x+4y—2x+5y

3) 0.5x +1. 7x—0. 6x_+1. 8x 4) (10y—8x)—(6x+9y)

5) (1.8a—1. 5b)+(3. 2a—4. 6b) 6) (ba+3)x4a

7 By 8) (3a°+9ab)+( —3a)

2 1 1 3 1 1
9) X — 3y + X — 7y 10) E(a+b)+ §(a+2b)
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1) ARE—m@E (2K X10%) A =]

1) 7a—b 2) 5x2—2x 3) —2x—y 4) —a2—a
5) 11x—2y 6) —0.4a—0.3b 7) —30ab 8) —a

9 ;x — 3y 10 2
2) KE—MRE (2 x108) A z
1) —2x—2y 2) 4a —3a 3) 0.7x 40.2x 4) —9x+6y—3
5) 3a—b 6) —12a+4b 7) 3b 8) —bab
9 —a+2b 10 2
3) KEE—fRE (2% 108) A z

1) 5.1a+7.2b 2) —2x—14y 3) 4x+3y  4) —3x +3x

5) 2a—4b—7  6) 8a+6b 7) —3b 8) x'y’
9) 3a+5b 10) a+3b
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4) KE—RE (2Rx10%#) A B

1) —7x—13y 2) —5x+6y 3) —0.6a—0.6b 4) 2x +6x

5) —2a—21b  6) 14a+10b 7) 12ab°  8) 2x+1

5x+5y+13

9) > 10) 4a+8b
5) SE—ME (25X 108H) B =
1) 3a+5b 2) —3x4+9y  3) —0.1x°+3.5x 4) —14x+y

5) 5a—6.1b  6) 20a°+12a 7) 9x'y>  8) —2a—6b

13 10) 5a+7b
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